
Follow Me

FM  door c los er

S
m

a
rT

e
a
m

 I
D

:

door closer
0
0
0
5
1
0
0
0

1:20

www.troax.com
FM  Fol low M e

88750300
As s em bly  ins truc tions 0.1A4 FM 2 / 2

Follow Me

FM

0.1

Smart Fix / AR page 2 Caelum / MHL page 3

Cetus / PP page 4



Kit 8010
36908010

Article no.: www.troax.com

Follow Me

 
 

 

88750300

0
0
0
5

1
0
0
0

S
m

a
rT

e
a

m
 I
D

: 

0.1

1 2

3

4

50
2

0

1
5

167

4x  6

M5 nyloc
4  5

M8

89051430

6
M8 tensi

 M8x351

M5

 M5x352
3  M5x16 7

89
05

07
76

7

1

6

136

 9

50

2x

1
5

4
5

5

2

3

4

7



www.troax.com

Follow Me

 
 

 

00050967

0
0
0
5

0
9

6
7

S
m

a
r
T

e
a

m
 I
D

: 

Article no.: 0.1

4

4

1

7

6

3

5

1

2 3

15

50

167

4 x  6

2
0136

50

2 x 9  

2

45

6 7
M8M8 tensi

89050776 89051430

1  M8x35
2  M5x35

M5 nyloc
 M5x163 4  

M5
5

Kit 8010

36908010



4

9

4
5

8 4

5

6 7
M8M8 tensi

89050776

36908010

Kit 8010

M5x45
8

89051430

M5

 M8x351
2  M5x35

 M5x163 4
M5 nyloc

 5

9
M5x40

90
2

0
40

9

1
2

1
6

9

6,50

173,50

5x  6

S
m

a
r
T

e
a

m
 I
D

: 

Article no.: www.troax.com

Follow Me

 
 

 

00050992

0
0
0
5

0
9

9
2

0.1


